stress test

1.

4.

A82°y* + O = (—22%y)? oA O bell B2 4

® —6xy @ 6xy
1 5 1

® 12zy

6xy @

29

1 1
© §$2+3x+1

@ 5(m2+1)

© 2(a® +3a) — (2a* — a)

r=2,y=-3Y4 ], 2245y —
H?

(3y — 3z) & Al

-8 @4 0O1 @ 2

A

—

St

5- <2xa>b 16x O]IIH a—f—b—C—J%}:’Q{)
Yy ye
® -2 ©@-1 ®o0 @1
6. 2y—[r+y—{22—-Bx+3y)} S

® —5x—2y @ —4z —2y

@ 2x — 5y ® 4z + 3y

= =
E‘Z_]—\_o
S

(a®b—a?)+a — 2(ab® + 6b%)=b
&<, 3

NAFE z,a dAFEy

Tatolat,

X
R

® z+3y

A o, ab

—y o] 3

® 10




9. (z 3)( ) o] AAAOA] 2 o] AlZ=e}F AF o]
29
© @ —% ® 0
1
@ 3 ® 3
10. 128%0-1 = 160+2 = g3a—4 2 GrEs}e g O] FHS Lo}
olzt,
11. o3 F AXt Bt &4 G2 220
CU3
O (=2zy°) x (32)° = (6y)° = -5

12.

@ 14a® + (—2b%)?

x (2ab?)? = 14a*
2

©) <§a2)2 % (36%)2 = (4ab?)? = i
@ (10a)? x (—ab?)? é(ffab) = 25a?

® (—dz?y) + (—fy ) X (2zy?)3 = 48x5y°

ke
ot
e

13. o= 243 52 o, A5 A, B, C, D, E 9] gto]
ofd A2
@ 4(2?—32)— (322 —62+7) = Az’ +Bx—7
222 —3zx+1 z2—-2x+3
© 2 B 3 -
Cz®>+ Dz + FE
6
O A=1 @ B=-6 ® C=14
@ D=-5 ® E=3

14. [ Joko] So12 7P 0@ A2 Pateler,

r+4y— {22 - By —O+y) +y} =5z — (3z+2y)

15. 50 -2y = dor+y -3 4 W, 50 -2y +5 5 x °
B3 40 2 el

16. o3 HI|= vt =s+a 5 | | FO Al Hoto] E
Zolth, &2 7S w5 Zetet
[
B7]

Q s=uvt+als]

S+ a

a0

© v




H7]
G 8t =212 O (—25)% = —58
© 278 =31 @ 645 = 230
ORON =, ® 0, ® 006
@ 0, ® ® O, 06,6

18. Z-gwA| o] 7t29] dol7} 3a, Al29] dol7t 2p0]aL
Bul7} 24620 D W, olE?

® 4a @ 6a ® 4

@ 3ab ® 4ab

19. 4] 3z —4y — 3) — (v — 2y — 3) & IHo] o}HA?

® 2x-3y+6 @ 2z -2
® 2z —2y+6 @ 2z —2y—6
® 2x — 6y

20. oj" tpa}AoA 2z — 3y + 5 & HofloF & A& FX
Stof i AE Y 4z 4 2y — 3°] F AT ©

AR T2

O —4x—2y—38 @ —2z—5y+8

® 2z —-5y—8 @ 6xr—y+2

® 8x —4y+7

21. /1 2
(§z+5) +a—fz +bx+21 4o, A a, b9
Fa+b o H2?
@10 @5 ®1 @ 0 ® -2

22. GSbA b3 o e = o
N = EEH,A?_OH—ZTOQEE‘Hﬂ'fT
a® bt

23 W hele )= e
be
4
Ty 2 2 \= 1 =

(25“31” ‘?)*(‘3”2’ ‘x;ﬂ)é‘“"] SFt?

25 25 25
o - ®-Z o -2

30 30
® -2 ® -

24. oF& % oiA) A3t ohe s

1 2
@ — <—§y + 2%)
1\2
® (23@ + gy) - gaﬁy




25. (3¢ —2b+1)(3a+2b— 1) < AAsH?

@ 3a2—-2b%2 -1 @ 9a% — 42 -1
@ 9a%2+20—20%2 -1 @ 9a2 +2b — 4% — 1

® 9a? — 4b% +4b - 1




